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let rec unwind stack acc =
match stack with

| [1->acc
| hd :: tl -> hnwind tl (hd acc) in
let rec _even stac ﬂ
if n = 0 then (unwiftd stack true) else _even (not :: stack) 1)in
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type tree = Leaf | Node of int * tree * tree

let rec inorderl t =
match t with
| Leaf -> []
| Node(c, tl, tr) -> (inorderl tl) @ [c] @ (inorderl tr)

Q)QS"WO(\ R \5 \Y\Of‘ACX \ '\cx\\ Ae CU(S(\/¢7

No.

Bueghon <¥0( exteon (ed & / R\/\\\>
CCJ\ v\o\A '\}(b\[\AQ (@ *kO\\\ AeCcursS\ve

NGt o& wocder | 7

<

Muval e CUY SloN

let rec even x = if x = 0 then true else odd (x - 1) \7%i

let rec odd x = if x = 0 then false else even (x - 1) H ¥o
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let rec even x = if x = 0 then true else odd (x - 1)‘
odd x = if x = 0 then false else even (x -
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